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QUESTION 1

Which of the following services are affected by closing the default ports of 80 and 21 via ACL on a company router? 

A. FTP and basic Internet traffic 

B. HTTPS and IMAP traffic 

C. DNS and TELNET traffic 

D. VPN and RDP traffic 

Correct Answer: A 

 

 

QUESTION 2

A company has multiple WAPs within close proximity to each other to allow users to move about seamlessly through the
building with their laptops, without losing any connection. However, this has had the opposite effect, causing any user
that is close to two of the access points to constantly reconnect to the wireless network. 

Which of the following should be changed on all the WAPs to allow this to work as the customer intended? 

A. Change the SSID to be unique for each WAP. 

B. Change the antenna direction to be unique for each WAP. 

C. Change the encryption method to be unique for each WAP. 

D. Change the channel to be unique for each WAP. 

Correct Answer: D 

 

 

QUESTION 3

Several users are reporting that they are unable to connect to the network. After further investigation, the network
administrator notices that a newly configured Layer 2 device lost its configuration. Which of the following MOST likely
caused the issue? 

A. Wrong default gateway 

B. Wrong DNS 

C. Switching loop 

D. Power failure 

Correct Answer: D 
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QUESTION 4

Ann, a new user, is unable to communicate on the network from her computer. A technician has verified that the cables
are functioning properly. Based on the information below, which action should the technician take to correct Ann\\'s
problem? Computer_A Switch_A IP: 10.0.0.60 Int VLAN10 SM: 255.255.255.0 IP address 10.0.0.1/28 GW: 10.0.0.1
Speed 100 Duplex Full 

A. Change the duplex on the switch interface to half 

B. Change the speed on the switch interface to 10Mbps 

C. Change the subnet mask of the computer to 255.255.255.240 

D. Change the IP address of the computer to 10.0.0.12 

Correct Answer: D 

 

 

QUESTION 5

A user wants to connect seven PCs together for a game night. Which of the following should the user install to help with
this task? 

A. Media convertor 

B. Switch 

C. Firewall 

D. Bridge 

Correct Answer: B 

They connect multiple PCs, printers, servers and other hardware. Switches allow you to send information, such as
email, and access shared resources, including printers, in a smooth, efficient, and transparent manner. 
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